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7) A biologist wants to know the width W of a river in order to properly set instrum.ents for Stl-.l ying |
pollutants in the water. From point A, the biologist walks downstream 70 feet and sights to point C. B
From this sighting, it is determined that 0 = 54°. How wide is the river? b
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8) A 12-meter ﬂaépole casts a 12-meter shadow. Find 8, the angle of elevation to the sun. =i \2— ‘ Z
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. Find the ang]
9) A ramp 17.5 feet in the length rises fo a loading platform that is 3.5 fect off the ground. Fin we

6 that the ramp makes with the ground. ,..
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lank unit circle. If x =cos and y= smH how can we use

2T b p—

Fill in the angles in degrees and radians on the b

f)
lspec1al right triangles to figure out the coordinate points on the circle?

“ The Unait C1rcle.
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